[ number of missing inner layers |

[ number of missing outer layers |

1e Entries 450931 1e Entries 450931
E Mean 0.04718 E ¢ [ Mean 1.176
F Std Dev 0.2223 | .Std Dev 1.784
L P b i S [
107 Entries 442037 107 [Entries 442037
E Mean 0.05479 E Mean 1.121
C Std Dev_ 0.2383 C Std Dev 1.758
2 IR I - S S S PR ) I - S DU ]
10 3 450677 10 3 Entries 450677
F Mean 0.04704 F Mean 1.176
o Std Dev 0.222 o Std Dev 1.784
10’35— ISR EEEER EEEEE | 10’35— """""""""
o Entries 450642 o S
r Mean 0.04702 r Mean 1.176
10_4 Std Dev 0.2218 10_4 Std Dev 1.784
E R | AR R 1
E Entries 441935 E Entries 441935
N Mean 0.05472 N Mean 1.122
-5 Std Dev 0.2383 -5 Std Dev 1.759
10°F = - 10°F -
O10L—_64_....I....!.. ............I....I....I....!.... 01076
I R g
[ R AR A ] R E R R SRR SRR 04
],,=,._,._+_ . 0.9
0.9E i e B 0.8
0 1 2 3 4 5 6 7 8 9 10
—— L) Ul‘k%illdl SLE] (T0ar-prmase L=-TrewgeoTTT
g D it_sTe| asel -newgeom
|j — B j@ng{le —ste| Zn_ﬁt rarrgas%sl %en W er%m
mean i " e‘r(s.tPE nencpstepz ttbargpﬁasel-newgeom

— 20r 10° E Entries 450931
1) - E Mean 11.81
> o o Std Dev 6.78
A o H H
‘2 104 L : [ Entries 442037
< E :
\% E .
3L : : i 450677
10 E : : 11.81
F : . 6.779
20 : : [Entries 450642
10 E H : | Mean 11.81
F N . | Std Dev 6.779
[ : : HE I
B + | Entries 441935
10 3 : | Mean 12.19
E : : | std Dev 6.815
omﬂ_"'ﬁ'i""i""""'i""i"" ° E ...i....i+.. L
g | e ++H;++++++++++;+++++w et % 10sf iagtt ]
: : : ; E. i betottebd L
] 4 A 3 E M R
N N N N E o, 1|
0.95 : : : : : - of : . : . AT
=3 -2 -1 0 1 2 3 0 5 10 15 20 25 30 35 40
track n track hits
[Nofreco track vs pT |
Entries 133002 Entries 497915
Mean 2.164 Mean 0.4269
Std Dev 6.079 10 Std Dev 0.902
g T 10 AR 1
Entries 133002 Entries 491541
Mean 2.164 Mean 0.4299
Std Dev 6.079| 1072 Std Dev 0.757]1
Entries 133002 Entries 497710
ean 2.164 Mean 0.4263
%ﬂiev 6.079 1072 Std Dev 0.9012
Entrids 133002 Entries 497629
Mean 2.164 Mean 0.4267
Std Dev 6.079 10—4 Std Dev 0.9068
T 1 | : I
Entries 133002 Entries 491582
Mean 2.164 Mean 0.4306
Std Dev 6.079 Std Dev 0.9115
AT
010v3F i ;
= .
I T Il
jllluuu;llllll” L[
ST
0.95k i i i
10* 1 10 10? 10°

TP p

o




	Contents
	Page 1


